DEPRECIATION .  
I always find that accounting makes more sense if you can understand the reasoning behind why something is done.

To explain the logic behind depreciation lets look at an example.  I purchase a BMW for R250,000 – it will go under my assets.  Nice.  But in three years time when it has got 90,000 Kms on the clock it will still show as an asset of mine for R250,000 – which means that my assets are then overstated because the BMW is no longer worth that. 

 The principal of accounting is that financial statements reflect as true a picture as possible and if the BMW still showed as R250,000 that would not be a true picture.  Thus I need to correct it and that is where the principal of deprecation comes in.

Not only that, SARS is very nice and they give you a tax allowance for depreciation – what that means is that you charge depreciation incurred in a year to an expense account which effectively means you have made less profit and thus pay less tax.  Makes perfect sense.

Now you can understand why there is a need for depreciation lets see how it works in practice.

There are two ways of calculating depreciation, namely, the straight line method and then there is the reducing balance method.

The straight line method means that you calculate depreciation at the same percentage every year on the ORIGINAL cost of the asset.

Reducing balance method means that you use the same percentage every year but you calculate on the value of the asset AFTER it has been reduced by prior year’s depreciation.

Make sure you understand the difference between the two.

Your study guide gives examples of both – but let’s pick an example for here – take the BMW I bought.

Say my depreciation is 20% straight line.  That means that 20% of the value of the asset is claimed as depreciation each year – this equates to 1/5th of the value every year which in the case of the BMW will be R50,000 per year.

The accounting treatment is that you debit the depreciation expense account with R50,000 and the corresponding credit goes to an “accumulated depreciation” account which is a liability account.

Hence on the Balance Sheet (Statement of Financial Position) you still see the asset as R250,000 debit – but there is now also a liability account with R50,000 as a credit – so one taken from the other gives you a value of R200,000 for the BMW which is a more accurate value for a one year old BMW.

At the same time because you have debited the depreciation expense account with R50,000 this has reduced your profit and you pay less tax.

For the next year you do the same thing.  In the expense account you will have R50,000 (remember that expense and income accounts get cleared at the end of every year and all start with a zero balance for the next year).  Hence you will only have the R50,000 for this year’s depreciation in the expense account.  However, your accumulated depreciation account will still have the previous years R50,000 in it because it is a Balance Sheet account and they do not get cleared.  After you have debited the expense account with the R50,000 for this year you still credit the same accumulated depreciation account – now it will have R100,000 in it as a credit.

So your Balance Sheet (Statement of Financial Position) still shows the asset as R250,000 but it now also shows the accumulated depreciation as R100,000.  Hence one taken away from the other shows the nett value of the asset as being R150,000
The expense account only has this years depreciation in it which is right – SARS will not let you claim the previous years again – you claimed the first  R50,000 last year – they might be nice but they aren’t that nice!!!!!.

Starting to make sense?????????

Now exactly the same logic applies when you use the reducing balance method – only the calculation changes.  If we take the BMW and say that the depreciation is 20% reducing balance – this is what happens.  

The first year the depreciation is R50,000 the next year you take 20% of the NETT value of the asset.  In other words the nett value will be the original R250,000 LESS the accumulated depreciation to date which is R50, 000 =- so the nett value is R200,000 and you calculate 20% of the R200,000 which is R40,000 so this years depreciation is R40,000 which goes to the depreciation expense account and the credit goes to the accumulated depreciation account which will now have the R50,000 and the R40,000 in it.
The following year you do the same again only now you calculate 20% of the nett value which is R250,000 MINUS the R90,000 (being the first R50,000 and the following R40,000).  So your nett value is now R160,000 and 20% of that is R32,000 and so it goes on.

Got it?????????

Draw up some “T” accounts and dream up figures – it is nowhere near as complicated as it first looks.  Just take note of whether you are using the straight line method or the reducing balance method.

The last thing you must look for in the exam is whether the asset is to be depreciated for the full year – if the asset was purchased during the year then you need to calculate how many months you can depreciate it for.  For example if it was purchased on 1st July and the financial year ended on 31 march then you only had the asset for 9 months – so you can only claim 9/12ths of the years depreciation – or in this case ¾ cause that is what 9/12ths equals.

There is nothing more to depreciation than that!!!!!!!!!

Amanda

